
Year 5 Homework A – 15th March 2024

Multiplication

Reasoning

Multiplication

2 x 5 = .

9 x 3 = .

12 x 8 = .

11 x 4 = .

6 x 6 = .

7 x 1 = .

10 x 12 = .

4 x 9 = .

90 ÷ 9 = .

21 ÷ 7 = .

77 ÷ 77 = .

254 ÷ 1 = .

Money

Remember to also have a go at TTRS, Spelling Shed and Lexia (if you 
have it)! All links are on the class page.

Forgotten your login? Let me know!Shape

Complete the statements:

What is the perimeter of this shape?

Remember:
1. Multiply by the ones
2. Add a place holder zero
3. Multiply by the tens
4. Add your answers together

Remember:
1. Multiply by the ones
2. Add a place holder zero
3. Multiply by the tens
4. Add your answers together

A school football pitch is 
188 metres by 73 
metres. Work out the 
area of the playground.
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